ﬂb‘ Comparing Approximate Measurement with Charts and Tables Name:

Solve each problem.

1) Compare the approximate reams of paper used per week of School A to School B.

School B
V'S
550 P
Reams of 450
[ ]
Weeks Paper Used g 400
350
3 166 g 300 .
4 226 "g 250 ®
I E
6 341 x 100 d
8 459 50
> 4 5 7 9o
Weeks
166+226+285+341+459 = 1,477 total reams used 121+237+298+414+528 = 1,598 total reams used
3+4+5+6+8 = 26 total weeks 2+4+5+7+9 = 27 total weeks
1,477 + 26 =56.8 1,598 + 27 =59.2
2) Compare the approximate pencils per second produced by Machine A to Machine B.
Machine B
A
— 900 o
achine 800
Time Pencils g 700
(Seconds) Produced é 600 5
4 366 £ 500 .
5 460 g 400 .
6 555 é 300
7 648 200
8 742 100 ®
1T 4 5 6 9
Time (Seconds)
366+460+555+648+742 = 2,771 total pencils 103+385+479+573+855 = 2,395 total pencils
4+5+6+7+8 = 30 total seconds 1+4+5+6+9 = 25 total seconds
2771+30=924 2,395+ 25=95.8
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ﬂb‘ Comparing Approximate Measurement with Charts and Tables Name. Answer Key

Solve each problem.

1) Compare the approximate reams of paper used per week of School A to School B.

School B
V'S
550 P
Reams of 450
[ ]
Weeks Paper Used g 400
350
3 166 g 300 .
4 226 "g 250 ®
I E
6 341 x 100 d
8 459 50
> 4 5 7 9o
Weeks
166+226+285+341+459 = 1,477 total reams used 121+237+298+414+528 = 1,598 total reams used
3+4+5+6+8 = 26 total weeks 2+4+5+7+9 = 27 total weeks
1,477 + 26 =56.8 1,598 + 27 =59.2
2) Compare the approximate pencils per second produced by Machine A to Machine B.
Machine B
A
— 900 o
achine 800
Time Pencils g 700
(Seconds) Produced é 600 5
4 366 £ 500 .
5 460 g 400 .
6 555 é 300
7 648 200
8 742 100 ®
1T 4 5 6 9
Time (Seconds)
366+460+555+648+742 = 2,771 total pencils 103+385+479+573+855 = 2,395 total pencils
4+5+6+7+8 = 30 total seconds 1+4+5+6+9 = 25 total seconds
2771+30=924 2,395+ 25=95.8
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